

		Cleveland St. Streetscape Phase III (16-0003-EN) and Festival Core (19-0026-EN)					
		BID OPENING - March 12, 2021 AWARD - April 15, 2021					
		Gibbs & Register, Inc. 232 S. Dillard Street Winter Garden, FL 34787			David Nelson Construction Co. 3483 Alternate 19 Palm Harbor, FL 33683		
BID ITEMS		UNIT	QTY	DBE UNIT PRICE	Y/N AMOUNT	DBE UNIT PRICE	Y/N AMOUNT
ROADS AND ADMINISTRATION							
1000 DEMOLITION & ADMINISTRATION							
1001	MOBILIZATION	LS	1	\$ 454,819.38	\$ 454,819.38	\$ 505,354.88	\$ 505,354.88
1002	EROSION AND SEDIMENTATION CONTROLS	LS	1	\$ 14,823.74	\$ 14,823.74	\$ 101,070.98	\$ 101,070.98
1003	DEMO CURB	SY	11827	\$ 10.00	\$ 118,270.00	\$ 5.00	\$ 59,135.00
1004	MILL ASPHALT	SY	4765	\$ 10.00	\$ 47,650.00	\$ 3.00	\$ 14,295.00
1005	DEMO SIDEWALKS	SY	4543	\$ 8.00	\$ 36,344.00	\$ 18.00	\$ 81,774.00
1006	DEMO DRIVEWAYS	SY	6180	\$ 8.00	\$ 49,440.00	\$ 18.00	\$ 111,240.00
1007	DEMO BUILDING FOUNDATION	SY	150	\$ 22.00	\$ 3,300.00	\$ 30.00	\$ 4,500.00
1008	DEMO TREES	EA	114	\$ 350.00	\$ 39,900.00	\$ 900.00	\$ 102,600.00
1009	DEMO LIGHTING	EA	50	\$ 250.00	\$ 12,500.00	\$ 900.00	\$ 45,000.00
1010	DEMO FIRE HYDRANTS	EA	11	\$ 650.00	\$ 7,150.00	\$ 350.00	\$ 3,850.00
1011	DEMO ASPHALT	SY	28000	\$ 2.00	\$ 56,000.00	\$ 10.00	\$ 280,000.00
2000 PAVING							
2001	MAINTENANCE OF TRAFFIC	LS	1	\$ 207,195.50	\$ 207,195.50	\$ 505,354.88	\$ 505,354.88
2002	EROSION AND SEDIMENTATION CONTROLS	LS	1	\$ 18,529.68	\$ 18,529.68	\$ 134,761.30	\$ 134,761.30
2003	CUT	CY	28000	\$ 1.00	\$ 28,000.00	\$ 10.00	\$ 280,000.00
2004	EMBANKMENT	CY	9150	\$ 3.00	\$ 27,450.00	\$ 5.00	\$ 45,750.00
2008	TYPE 9.5 (TLB) SUPERPAVE ASPHALTIC CONCRETE (2")	TN	894	\$ 160.00	\$ 143,040.00	\$ 130.00	\$ 116,220.00
2009	8" AGGREGATE BASE (LBR 100)	SY	7455	\$ 16.00	\$ 119,280.00	\$ 18.00	\$ 134,190.00
2010	TYPE B STABILIZATION	SY	9288	\$ 12.00	\$ 111,456.00	\$ 10.00	\$ 92,880.00
2011	CONCRETE SIDEWALK, ROCK SALT FINISH, 4" THICK (P-1)	SY	5700	\$ 50.00	\$ 285,000.00	\$ 100.00	\$ 570,000.00
2012	CONCRETE SIDEWALK, BROOM FINISH, 4" THICK (P-2)	SY	4500	\$ 55.00	\$ 247,500.00	\$ 75.00	\$ 337,500.00
2013	CONCRETE DRIVEWAY, BROOM FINISH, 6" THICK	SY	4501	\$ 65.00	\$ 292,565.00	\$ 55.00	\$ 247,555.00
2014	CONCRETE SIDEWALK, SALT AND PEPPER GRANITE (3/4"), HEAVY APPLICATION, 6" THICK (P-4)	SY	2000	\$ 70.00	\$ 140,000.00	\$ 110.00	\$ 220,000.00
2015	DETECTABLE WARNINGS	SF	2000	\$ 45.00	\$ 90,000.00	\$ 25.00	\$ 50,000.00
2016	PLAIN CEMENT CONCRETE PAVEMENT, SALT AND PEPPER GRANITE (3/8"), LIGHT APPLICATION, 8" (V-1)	SY	1600	\$ 135.00	\$ 216,000.00	\$ 160.00	\$ 256,000.00
2017	PLAIN CEMENT CONCRETE PAVEMENT, SALT AND PEPPER GRANITE (3/8"), HEAVY APPLICATION, 8" (V-2)	SY	400	\$ 150.00	\$ 60,000.00	\$ 160.00	\$ 64,000.00
2018	TYPE B-12.5 BASE, 4"	SY	2000	\$ 35.00	\$ 70,000.00	\$ 50.00	\$ 100,000.00
2019	CLEANING & SEALING JOINTS- CONCRETE PAVEMENT	LF	3500	\$ 5.00	\$ 17,500.00	\$ 5.00	\$ 17,500.00
2020	SET OF REINFORCED CONCRETE STEPS WITH HANDRAIL, CONCRETE CLASS NS	EA	3	\$ 9,500.00	\$ 28,500.00	\$ 5,000.00	\$ 15,000.00
3000 SIGNAGE AND PAVEMENT MARKINGS							
3001	GREEN COLORED PAVEMENT MARKINGS, BIKE LANE, PAINT	SY	1400	\$ 78.00	\$ 109,200.00	\$ 25.00	\$ 35,000.00
3002	SINGLE POST SIGN, F&I GROUND MOUNT, 12-20 SF	AS	145	\$ 250.00	\$ 36,250.00	\$ 300.00	\$ 43,500.00
3003	SINGLE POST SIGN, REMOVE	AS	210	\$ 20.00	\$ 4,200.00	\$ 30.00	\$ 6,300.00
3004	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"	GM	0.33	\$ 5,000.00	\$ 1,650.00	\$ 1,500.00	\$ 495.00
3005	PAINTED PAVEMENT MARKINGS, STANDARD, BLACK, SKIP, 6"	GM	1.14	\$ 5,500.00	\$ 6,270.00	\$ 600.00	\$ 684.00
3006	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK AND ROUNDABOUT	LF	5400	\$ 2.00	\$ 10,800.00	\$ 5.00	\$ 27,000.00
3007	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK	LF	1849	\$ 4.00	\$ 7,396.00	\$ 6.00	\$ 11,094.00
3008	THERMOPLASTIC, STANDARD, WHITE, 2-4 DOTTED GUIDELINE, 6"	GM	0.08	\$ 2,500.00	\$ 200.00	\$ 5,000.00	\$ 400.00
3009	THERMOPLASTIC, STANDARD, WHITE, 2-2 DOTTED EXTENSION LINE, 6"	GM	0.14	\$ 3,000.00	\$ 420.00	\$ 5,000.00	\$ 700.00
3010	THERMOPLASTIC, STANDARD, WHITE, MESSAGE OR SYMBOL	EA	20	\$ 200.00	\$ 4,000.00	\$ 120.00	\$ 2,400.00



Cleveland St. Streetscape Phase III (16-0003-EN) and Festival Core (19-0026-EN)

BID OPENING - March 12, 2021 AWARD - April 15, 2021

**Gibbs & Register, Inc.
232 S. Dillard Street
Winter Garden, FL 34787**

**David Nelson Construction Co.
3483 Alternate 19
Palm Harbor, FL 33683**

				DBE	Y/N	DBE	Y/N
BID ITEMS		UNIT	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
3011	THERMOPLASTIC, STANDARD, WHITE, ARROW	EA	29	\$ 80.00	\$ 2,320.00	\$ 75.00	\$ 2,175.00
3012	THERMOPLASTIC, STANDARD, WHITE, YIELD LINE	EA	2	\$ 75.00	\$ 150.00	\$ 120.00	\$ 240.00
3013	THERMOPLASTIC, PREFORMED, WHITE, MESSAGE	EA	49	\$ 200.00	\$ 9,800.00	\$ 175.00	\$ 8,575.00
3014	THERMOPLASTIC, PREFORMED, WHITE, ARROW	EA	49	\$ 75.00	\$ 3,675.00	\$ 110.00	\$ 5,390.00
3015	THERMOPLASTIC, STANDARD, OTHER SURFACES, WHITE, SOLID, 6"	GM	0.23	\$ 4,500.00	\$ 1,035.00	\$ 5,000.00	\$ 1,150.00
3016	THERMOPLASTIC, STANDARD, YELLOW, SOLID, 18" FOR DIAGONAL OR CHEVRON	LF	732	\$ 3.00	\$ 2,196.00	\$ 5.00	\$ 3,660.00
3017	THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6", 10-30 SKIP	GM	0.12	\$ 1,500.00	\$ 180.00	\$ 2,000.00	\$ 240.00
3018	THERMOPLASTIC, STANDARD, OTHER SURFACES, YELLOW, SOLID, 6'	GM	2.45	\$ 4,500.00	\$ 11,025.00	\$ 5,000.00	\$ 12,250.00
4000	LANDSCAPE, IRRIGATION & HARDSCAPE						
4001	TRASH RECEPTACLES	EA	7	\$ 2,500.00	\$ 17,500.00	\$ 2,200.00	\$ 15,400.00
4002	BENCHES	EA	10	\$ 2,500.00	\$ 25,000.00	\$ 3,000.00	\$ 30,000.00
4003	BIKE RACKS	EA	14	\$ 750.00	\$ 10,500.00	\$ 725.00	\$ 10,150.00
4004	BOLLARDS	EA	78	\$ 1,100.00	\$ 85,800.00	\$ 1,100.00	\$ 85,800.00
4005	BUS SHELTERS	EA	2	\$ 9,500.00	\$ 19,000.00	\$ 750.00	\$ 1,500.00
4006	JAPANESE BLUEBERRY	EA	20	\$ 2,000.00	\$ 40,000.00	\$ 1,490.00	\$ 29,800.00
4007	CRAPE MYRTLE	EA	20	\$ 1,500.00	\$ 30,000.00	\$ 720.00	\$ 14,400.00
4008	MEDJOO PALM	EA	23	\$ 7,000.00	\$ 161,000.00	\$ 4,400.00	\$ 101,200.00
4009	LIVE OAK	EA	93	\$ 600.00	\$ 55,800.00	\$ 425.00	\$ 39,525.00
4010	SABAL PALM	EA	96	\$ 500.00	\$ 48,000.00	\$ 470.00	\$ 45,120.00
4011	FOXTAIL PALM	EA	36	\$ 1,500.00	\$ 54,000.00	\$ 830.00	\$ 29,880.00
4012	PERENNIAL PEANUT	SF	8961	\$ 3.00	\$ 26,883.00	\$ 4.40	\$ 39,428.40
4013	DWF. BOUGAIVILLEA 'HELEN JOHNSON'	EA	467	\$ 16.00	\$ 7,472.00	\$ 13.80	\$ 6,444.60
4014	HORSETAIL	EA	1170	\$ 7.00	\$ 8,190.00	\$ 9.40	\$ 10,998.00
4015	DWF YAUPON HOLLY	EA	50	\$ 12.00	\$ 600.00	\$ 11.60	\$ 580.00
4016	PODOCARPUS 'PRINGLES'	EA	396	\$ 35.00	\$ 13,860.00	\$ 47.00	\$ 18,612.00
4017	INDIAN HAWTHORN	EA	1969	\$ 12.00	\$ 23,628.00	\$ 10.00	\$ 19,690.00
4018	DWF CONFEDERATE JASMINE	EA	3822	\$ 5.00	\$ 19,110.00	\$ 5.25	\$ 20,065.50
4019	COONTIE	EA	400	\$ 20.00	\$ 8,000.00	\$ 53.50	\$ 21,400.00
4020	BERMUDA 'LATITUDE 36'	SF	65000	\$ 0.75	\$ 48,750.00	\$ 0.80	\$ 52,000.00
4021	MINI PINE BARK MULCH	CY	215	\$ 60.00	\$ 12,900.00	\$ 61.00	\$ 13,115.00
4022	IRRIGATION	LS	1	\$ 225,000.00	\$ 225,000.00	\$ 230,000.00	\$ 230,000.00
4023	TREE GRATE	EA	4	\$ 5,500.00	\$ 22,000.00	\$ 5,500.00	\$ 22,000.00
4024	ROOT BARRIER	LF	3700	\$ 20.00	\$ 74,000.00	\$ 8.50	\$ 31,450.00
5000	ELECTRICAL						
5001	1 1/2" PVC CONDUIT, WITH STUB-UP AT 139 LIGHT LOCATIONS	LF	9300	\$ 20.00	\$ 186,000.00	\$ 25.00	\$ 232,500.00
	SUB-TOTAL ROADS & ADMINISTRATION 1001-5001				\$ 4,375,973.30		\$ 5,777,842.54
5002	10% CONTINGENCY ROADS & ADMINISTRATION 1001-5001	LS	1	\$ 437,597.33	\$ 437,597.33	\$ 577,784.25	\$ 577,784.25
	TOTAL ROADS & ADMINISTRATION 1001-5002				\$ 4,813,570.63		\$ 6,355,626.79
	STORMWATER						
1001a	MOBILIZATION	LS	1	\$ 481,132.60	\$ 481,132.60	\$ 534,591.78	\$ 534,591.78
1002a	EROSION AND SEDIMENTATION CONTROLS	LS	1	\$ 15,681.36	\$ 15,681.36	\$ 106,918.35	\$ 106,918.35
2001a	MAINTENANCE OF TRAFFIC	LS	1	\$ 219,182.63	\$ 219,182.63	\$ 534,591.78	\$ 534,591.78
2002a	EROSION AND SEDIMENTATION CONTROLS	LS	1	\$ 19,601.70	\$ 19,601.70	\$ 142,557.81	\$ 142,557.81
2005	CLW TYPE 1 CURB	LF	9653	\$ 28.00	\$ 270,284.00	\$ 23.00	\$ 222,019.00
2006	CLW STRAIGHT CURB	LF	3200	\$ 22.00	\$ 70,400.00	\$ 18.00	\$ 57,600.00
2007	CLW VALLEY GUTTER	LF	2284	\$ 35.00	\$ 79,940.00	\$ 30.00	\$ 68,520.00



Cleveland St. Streetscape Phase III (16-0003-EN) and Festival Core (19-0026-EN)

BID OPENING - March 12, 2021 AWARD - April 15, 2021

		Gibbs & Register, Inc. 232 S. Dillard Street Winter Garden, FL 34787	David Nelson Construction Co. 3483 Alternate 19 Palm Harbor, FL 33683
--	--	---	--

				DBE	Y/N	DBE	Y/N
BID ITEMS		UNIT	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
2008a	TYPE 9.5 (TLB) SUPERPAVE ASPHALTIC CONCRETE (2")	TN	946	\$ 160.00	\$ 151,360.00	\$ 130.00	\$ 122,980.00
2009a	8" AGGREGATE BASE (LBR 100)	SY	7886	\$ 16.00	\$ 126,176.00	\$ 18.00	\$ 141,948.00
2010a	TYPE B STABILIZATION	SY	9826	\$ 12.00	\$ 117,912.00	\$ 10.00	\$ 98,260.00
6000 STORMWATER							
6001	DEMO STORM PIPE	LF	6088	\$ 30.00	\$ 182,640.00	\$ 13.00	\$ 79,144.00
6002	DEMO STORM STRUCTURES	EA	55	\$ 1,050.00	\$ 57,750.00	\$ 400.00	\$ 22,000.00
6003	15" RCP	LF	1219	\$ 78.00	\$ 95,082.00	\$ 50.00	\$ 60,950.00
6004	18" RCP	LF	1061	\$ 103.00	\$ 109,283.00	\$ 60.00	\$ 63,660.00
6005	24" RCP	LF	3204	\$ 104.00	\$ 333,216.00	\$ 80.00	\$ 256,320.00
6006	30" RCP	LF	252	\$ 142.00	\$ 35,784.00	\$ 120.00	\$ 30,240.00
6007	36" RCP	LF	502	\$ 182.00	\$ 91,364.00	\$ 150.00	\$ 75,300.00
6008	42" RCP	LF	560	\$ 390.00	\$ 218,400.00	\$ 195.00	\$ 109,200.00
6009	INDEX NO. 425-020 - CURB INLET TYPE 4, <10'	EA	2	\$ 8,500.00	\$ 17,000.00	\$ 5,700.00	\$ 11,400.00
6010	INDEX NO. 425-021 - CURB INLET TYPE 5, <10'	EA	42	\$ 5,000.00	\$ 210,000.00	\$ 4,500.00	\$ 189,000.00
6011	INDEX NO. 425-021 - CURB INLET TYPE 6, <10'	EA	3	\$ 5,500.00	\$ 16,500.00	\$ 4,600.00	\$ 13,800.00
6012	INDEX NO. 425-052 - TYPE C DBI, <10'	EA	1	\$ 3,500.00	\$ 3,500.00	\$ 2,500.00	\$ 2,500.00
6013	INDEX NO. 425-052 - TYPE D DBI, <10'	EA	1	\$ 5,000.00	\$ 5,000.00	\$ 3,650.00	\$ 3,650.00
6014	INDEX NO. 425-041 - GUTTER INLET - TYPE V, <10'	EA	15	\$ 5,500.00	\$ 82,500.00	\$ 3,800.00	\$ 57,000.00
6015	INDEX NO. 425-001 - TYPE 8 MANHOLE, <10'	EA	11	\$ 4,000.00	\$ 44,000.00	\$ 2,900.00	\$ 31,900.00
6016	INDEX NO. 425-001 - TYPE 8 MANHOLE, <10', J BOTTOM	EA	7	\$ 5,500.00	\$ 38,500.00	\$ 5,800.00	\$ 40,600.00
6017	BAFFLE BOX	EA	2	\$ 275,000.00	\$ 550,000.00	\$ 250,000.00	\$ 500,000.00
6018	15" PIPE CONNECTION INTO EXISTING STRUCTURES	EA	3	\$ 2,000.00	\$ 6,000.00	\$ 650.00	\$ 1,950.00
6019	18" PIPE CONNECTION INTO EXISTING STRUCTURES	EA	1	\$ 2,000.00	\$ 2,000.00	\$ 850.00	\$ 850.00
6020	24" PIPE CONNECTION INTO EXISTING STRUCTURES	EA	1	\$ 2,000.00	\$ 2,000.00	\$ 950.00	\$ 950.00
6021	STRUCTURE MODIFICATION - TOP REPLACEMENT WITH RING AND COVER	EA	1	\$ 3,500.00	\$ 3,500.00	\$ 2,300.00	\$ 2,300.00
6022	8" PVC CONTECH PIPE, TYPE A-2000	LF	11000	\$ 37.00	\$ 407,000.00	\$ 37.00	\$ 407,000.00
6023	8" UNDER DRAIN CLEANOUT	EA	65	\$ 900.00	\$ 58,500.00	\$ 1,000.00	\$ 65,000.00
6024	8" PVC OUTFALL PIPE (UNDERDRAINS)	LF	130	\$ 100.00	\$ 13,000.00	\$ 220.00	\$ 28,600.00
6025	RAIN GARDEN	EA	11	\$ 45,000.00	\$ 495,000.00	\$ 27,000.00	\$ 297,000.00
SUB-TOTAL STORMWATER 6001-6025					\$ 4,629,189.29		\$ 4,380,300.72
6026	10% CONTINGENCY FOR STORMWATER ITEMS 6001-6025	LS	1	\$ 462,918.93	\$ 462,918.93	\$ 438,030.07	\$ 438,030.07
TOTAL STORMWATER 6001-6026					\$ 5,092,108.22		\$ 4,818,330.79
UTILITIES							
WATER							
1001b	MOBILIZATION	LS	1	\$ 244,849.76	\$ 244,849.76	\$ 272,055.29	\$ 272,055.29
1002b	EROSION AND SEDIMENTATION CONTROLS	LS	1	\$ 7,980.29	\$ 7,980.29	\$ 54,411.06	\$ 54,411.06
2001b	MAINTENANCE OF TRAFFIC	LS	1	\$ 111,542.67	\$ 111,542.67	\$ 272,055.29	\$ 272,055.29
2002b	EROSION AND SEDIMENTATION CONTROLS	LS	1	\$ 9,975.36	\$ 9,975.36	\$ 72,548.08	\$ 72,548.08
2008b	TYPE 9.5 (TLB) SUPERPAVE ASPHALTIC CONCRETE (2")	TN	482	\$ 160.00	\$ 77,120.00	\$ 130.00	\$ 62,660.00
2009b	8" AGGREGATE BASE (LBR 100)	SY	4013	\$ 16.00	\$ 64,208.00	\$ 18.00	\$ 72,234.00
2010b	TYPE B STABILIZATION	SY	5000	\$ 12.00	\$ 60,000.00	\$ 10.00	\$ 50,000.00
7000 WATER							
7001	DEMO WATER	LF	10273	\$ 10.00	\$ 102,730.00	\$ 15.00	\$ 154,095.00
7002	5/8" WATER SERVICE	LF	3751	\$ 45.00	\$ 168,795.00	\$ 23.00	\$ 86,273.00
7003	1" WATER SERVICE	LF	1551	\$ 48.00	\$ 74,448.00	\$ 26.00	\$ 40,326.00
7004	2" WATER SERVICE	LF	100	\$ 75.00	\$ 7,500.00	\$ 50.00	\$ 5,000.00
7005	20" DIP WATER MAIN	LF	400	\$ 235.00	\$ 94,000.00	\$ 195.00	\$ 78,000.00
7006	6" DIP WATER MAIN	LF	102	\$ 121.00	\$ 12,342.00	\$ 50.00	\$ 5,100.00
7007	8" PVC WATER MAIN	LF	8100	\$ 57.00	\$ 461,700.00	\$ 42.00	\$ 340,200.00

		Cleveland St. Streetscape Phase III (16-0003-EN) and Festival Core (19-0026-EN)					
		BID OPENING - March 12, 2021 AWARD - April 15, 2021					
				Gibbs & Register, Inc. 232 S. Dillard Street Winter Garden, FL 34787		David Nelson Construction Co. 3483 Alternate 19 Palm Harbor, FL 33683	
BID ITEMS		UNIT	QTY	DBE UNIT PRICE	Y/N AMOUNT	DBE UNIT PRICE	Y/N AMOUNT
7008	6" PVC WATER MAIN	LF	500	\$ 128.00	\$ 64,000.00	\$ 31.00	\$ 15,500.00
7009	4" PVC WATER MAIN	LF	100	\$ 177.00	\$ 17,700.00	\$ 28.00	\$ 2,800.00
7010	LINE STOP 20"	EA	3	\$ 20,000.00	\$ 60,000.00	\$ 23,500.00	\$ 70,500.00
7011	LINE STOP 8"	EA	1	\$ 8,500.00	\$ 8,500.00	\$ 11,500.00	\$ 11,500.00
7012	LINE STOP 6"	EA	6	\$ 8,000.00	\$ 48,000.00	\$ 9,500.00	\$ 57,000.00
7013	LINE STOP 4"	LF	2	\$ 7,000.00	\$ 14,000.00	\$ 6,500.00	\$ 13,000.00
7014	8" GATE VALVE	EA	27	\$ 1,700.00	\$ 45,900.00	\$ 2,400.00	\$ 64,800.00
7015	6" GATE VALVE	EA	23	\$ 1,200.00	\$ 27,600.00	\$ 2,400.00	\$ 55,200.00
7016	4" GATE VALVE	EA	12	\$ 1,000.00	\$ 12,000.00	\$ 1,900.00	\$ 22,800.00
7017	AIR RELEASE VALVE ASSEMBLY	EA	2	\$ 5,500.00	\$ 11,000.00	\$ 3,500.00	\$ 7,000.00
7018	FITTINGS & APPURTENANCES	TN	5	\$ 23,000.00	\$ 115,000.00	\$ 18,500.00	\$ 92,500.00
7019	RESTRAINTS, BELL AT TIE-IN	EA	230	\$ 1,500.00	\$ 345,000.00	\$ 200.00	\$ 46,000.00
7020	FIRE HYDRANT ASSEMBLY	EA	15	\$ 6,000.00	\$ 90,000.00	\$ 4,500.00	\$ 67,500.00
	SUBTOTAL WATER				\$ 2,355,891.08		\$ 2,091,057.72
7021	10% CONTINGENCY	LS	1	\$ 235,589.11	\$ 235,589.11	\$ 209,105.77	\$ 209,105.77
	TOTAL WATER				\$ 2,591,480.19		\$ 2,300,163.49
8000	RECLAIMED WATER						
1001c	MOBILIZATION	LS	1	\$ 80,254.26	\$ 80,254.26	\$ 89,171.39	\$ 89,171.39
1002c	EROSION AND SEDIMENTATION CONTROLS	LS	1	\$ 2,615.69	\$ 2,615.69	\$ 17,834.28	\$ 17,834.28
2001c	MAINTENANCE OF TRAFFIC	LS	1	\$ 36,560.27	\$ 36,560.27	\$ 89,171.39	\$ 89,171.39
2002c	EROSION AND SEDIMENTATION CONTROLS	LS	1	\$ 3,269.62	\$ 3,269.62	\$ 23,779.04	\$ 23,779.04
2008c	TYPE 9.5 (TLB) SUPERPAVE ASPHALTIC CONCRETE (2")	TN	158	\$ 160.00	\$ 25,280.00	\$ 130.00	\$ 20,540.00
2009c	8" AGGREGATE BASE (LBR 100)	SY	1316	\$ 16.00	\$ 21,056.00	\$ 18.00	\$ 23,688.00
2010c	TYPE B STABILIZATION	SY	1639	\$ 12.00	\$ 19,668.00	\$ 10.00	\$ 16,390.00
8000	RECLAIMED WATER						
8001	4" PVC RECLAIM MAIN	LF	7300	\$ 35.00	\$ 255,500.00	\$ 29.00	\$ 211,700.00
8002	1" RECLAIM SERVICE	LF	880	\$ 50.00	\$ 44,000.00	\$ 32.00	\$ 28,160.00
8003	2" RECLAIM SERVICE	LF	880	\$ 80.00	\$ 70,400.00	\$ 40.00	\$ 35,200.00
8004	4" GATE VALVE	EA	42	\$ 1,300.00	\$ 54,600.00	\$ 2,000.00	\$ 84,000.00
8005	SERVICE BOX	EA	95	\$ 1,200.00	\$ 114,000.00	\$ 385.00	\$ 36,575.00
8006	4" BLOWOFF ASSEMBLY	EA	15	\$ 3,000.00	\$ 45,000.00	\$ 2,600.00	\$ 39,000.00
	SUBTOTAL RECLAIMED WATER				\$ 772,203.84		\$ 715,209.10
8007	10% CONTINGENCY	LS	1	\$ 77,220.38	\$ 77,220.38	\$ 71,520.91	\$ 71,520.91
	TOTAL RECLAIMED WATER				\$ 849,424.22		\$ 786,730.01
9000	SANITARY SEWER						
1001d	MOBILIZATION	LS	1	\$ 88,944.00	\$ 88,944.00	\$ 98,826.66	\$ 98,826.66
1002d	EROSION AND SEDIMENTATION CONTROLS	LS	1	\$ 2,898.92	\$ 2,898.92	\$ 19,765.33	\$ 19,765.33
2001d	MAINTENANCE OF TRAFFIC	LS	1	\$ 40,518.93	\$ 40,518.93	\$ 98,826.66	\$ 98,826.66
2002d	EROSION AND SEDIMENTATION CONTROLS	LS	1	\$ 3,623.64	\$ 3,623.64	\$ 26,353.77	\$ 26,353.77
2008d	TYPE 9.5 (TLB) SUPERPAVE ASPHALTIC CONCRETE (2")	TN	175	\$ 160.00	\$ 28,000.00	\$ 130.00	\$ 22,750.00
2009d	8" AGGREGATE BASE (LBR 100)	SY	1458	\$ 16.00	\$ 23,328.00	\$ 18.00	\$ 26,244.00
2010d	TYPE B STABILIZATION	SY	1816	\$ 12.00	\$ 21,792.00	\$ 10.00	\$ 18,160.00
9000	SEWER						
9001	DEMO SEWER PIPE	LF	4184	\$ 20.00	\$ 83,680.00	\$ 30.00	\$ 125,520.00
9002	DEMO SEWER STRUCTURES	EA	18	\$ 1,300.00	\$ 23,400.00	\$ 950.00	\$ 17,100.00
9003	SANITARY SEWER MANHOLE	EA	20	\$ 5,500.00	\$ 110,000.00	\$ 4,400.00	\$ 88,000.00
9004	SANITARY SEWER MANHOLE - CONNECT TO EX	EA	2	\$ 6,000.00	\$ 12,000.00	\$ 2,300.00	\$ 4,600.00
9005	SANITARY SEWER PIPE - 12" PVC	LF	40	\$ 90.00	\$ 3,600.00	\$ 90.00	\$ 3,600.00
9006	SANITARY SEWER PIPE - 10" PVC	LF	270	\$ 70.00	\$ 18,900.00	\$ 70.00	\$ 18,900.00
9007	SANITARY SEWER PIPE - 8" PVC	LF	3700	\$ 66.00	\$ 244,200.00	\$ 65.00	\$ 240,500.00
9008	SANITARY SEWER PIPE - LATERAL - 6" PVC	LF	2500	\$ 45.00	\$ 112,500.00	\$ 30.00	\$ 75,000.00

		Cleveland St. Streetscape Phase III (16-0003-EN) and Festival Core (19-0026-EN)					
		BID OPENING - March 12, 2021 AWARD - April 15, 2021					
		Gibbs & Register, Inc. 232 S. Dillard Street Winter Garden, FL 34787			David Nelson Construction Co. 3483 Alternate 19 Palm Harbor, FL 33683		
				DBE	Y/N	DBE	Y/N
BID ITEMS		UNIT	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
9009	INSTALL CLEAN-OUT	EA	48	\$ 800.00	\$ 38,400.00	\$ 900.00	\$ 43,200.00
SUBTOTAL SANITARY SEWER					\$ 855,785.49		\$ 927,346.42
9010	10% CONTINGENCY	LS	1	\$ 85,578.55	\$ 85,578.55	\$ 92,734.64	\$ 92,734.64
TOTAL SANITARY SEWER					\$ 941,364.04		\$ 1,020,081.06
SUB-TOTAL UTILITIES					\$ 3,983,880.41		\$ 3,733,613.24
TOTAL 10% CONTINGENCY					\$ 398,388.04		\$ 373,361.32
TOTAL UTILITIES					\$ 4,382,268.45		\$ 4,106,974.56
SUB-TOTAL CLEVELAND ST STREETScape PHASE III					\$ 12,989,043.00		\$ 13,891,756.50
TOTAL CONTINGENCY CLEVELAND STREETScape PHASE III					\$ 1,298,904.30		\$ 1,389,175.65
TOTAL CLEVELAND STREETScape PHASE III					\$ 14,287,947.30		\$ 15,280,932.15
10000 GATEWAY FESTIVAL CORE							
10001	CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	LS	1	\$ 35,000.00	\$ 35,000.00	\$ 80,000.00	\$ 80,000.00
10002	CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	LS	1	\$ 30,000.00	\$ 30,000.00	\$ 50,000.00	\$ 50,000.00
10003	CONCRETE HEADER CURB, 6"	LS	1	\$ 1,000.00	\$ 1,000.00	\$ 500.00	\$ 500.00
10004	PIPE HANDRAIL - GUIDERAIL, ALUMINUM	LS	1	\$ 10,000.00	\$ 10,000.00	\$ 5,000.00	\$ 5,000.00
10005	CONCRETE CLASS NS, CONCRETE STEPS	LS	1	\$ 9,500.00	\$ 9,500.00	\$ 10,000.00	\$ 10,000.00
10006	REINFORCING STEEL - MISCELLANEOUS	LS	1	\$ 500.00	\$ 500.00	\$ 1,000.00	\$ 1,000.00
10007	CONCRETE CLASS II, RETAINING WALL	LS	1	\$ 15,000.00	\$ 15,000.00	\$ 8,000.00	\$ 8,000.00
10008	REINFORCING STEEL - RETAINING WALL	LS	1	\$ 500.00	\$ 500.00	\$ 1,000.00	\$ 1,000.00
10009	LANDSCAPE PLANTERS	LS	1	\$ 115,000.00	\$ 115,000.00	\$ 175,000.00	\$ 175,000.00
10010	SITE LIGHTING	LS	1	\$ 80,000.00	\$ 80,000.00	\$ 145,000.00	\$ 145,000.00
10011	IRRIGATION	LS	1	\$ 1,950.00	\$ 1,950.00	\$ 2,500.00	\$ 2,500.00
10012	SHADE STRUCTURE ALLOWANCE	LS	1	\$ 300,000.00	\$ 300,000.00	\$ 300,000.00	\$ 300,000.00
10013	SHADE STRUCTURE FOUNDATION	LS	1	\$ 220,000.00	\$ 220,000.00	\$ 175,000.00	\$ 175,000.00
10014	MASONRY STORAGE STRUCTURE	LS	1	\$ 25,000.00	\$ 25,000.00	\$ 50,000.00	\$ 50,000.00
SUB-TOTAL GATEWAY FESTIVAL CORE					\$ 843,450.00		\$ 1,003,000.00
10015	10% CONTINGENCY GATEWAY FESTIVAL CORE	LS	1	\$ 84,345.00	\$ 84,345.00	\$ 100,300.00	\$ 100,300.00
TOTAL GATEWAY FESTIVAL CORE					\$ 927,795.00		\$ 1,103,300.00
SUBTOTAL					\$ 13,832,493.00		\$ 14,894,756.50
TOTAL 10% CONTINGENCY					\$ 1,383,249.30		\$ 1,489,475.65
TOTAL CONSTRUCTION COST					\$ 15,215,742.30		\$ 16,384,232.15
GRAND TOTAL					\$ 15,215,742.30		\$ 16,384,232.15